F142[E] FERSEFPRATRS I} 07201509 ST L E e I} 203010 W H R 194E9H 150 (1) 16 H (H)
1 {7 2 fr 3 fr 4 [ 5 fr 6 {r 7 [ 8 (i
Bk | A (K4 ik |K4 wik |K4 I ik |K4 wmik |K4 i K4 R B2 s
JBivz JBivz JBiz JBivz JBivz JBivz JBivz JBivz
1—}002 +1.8ihm % [ T L5 =Y KEH TN CEEES 11.8[f@0  BE 18]l ZZHA 13.3]&H K& FEE & woaiem|ilill Hl (Shr)
100m e 2 Pe AR 812 Pe Az 812 -H2 SEATH L 2piRdk2 2piRdk2 Sa i H2 Zif1
1-}003 0.0 [ihm % 23.2|F8  EA 235 T 23.6|H0H HEE 23.7|= U AEH® 243 BX 24.7|/W01 Wl I S R B (8hn) Mk EEAE (87
200m e 2 - HI2 e AR 812 HAEZAE2 Pe AR 812 - 52 ZFH 1 ST L -
11005 B 53.5[40P W 53.5| Fp s AR Fi A 55.6] B ELA 55.9| B % 56.5| )1 27 60.4|Fi%E PR TR EE
400m M2 HAEZFfE2 g2 Yo KHE2 g M1 E=aneihl ‘A k2
a-}006 iy AR 2.04.4| s EA 2.05.8|Mh FH FEIE 2.06.0[ A W 2.07.8| 4 B 2.08.0[ MR  2.00.7[k2 F THE 2.10.0\BZFF SoRit 2.11.4
800m HTAEZEEL Ve AR89 T2 2 L0 R/NEE] L #2 e A F B ZiFt2
a—-}008 PREIN 4.16.0[{F87 AR 4.19.0[/2 F mHE 4.19.711548 4.20. 7| FH FEE 4.23. 9|50 mE  4.26.20%0F A 4.29. 3| R AR EF 4.32.3
1500m| PR F T HTEERL YA FE e i Tdh2 e A F B 2 HTEEEL
a-F011 RE ¥ 15.42.1kE  f 15.56.4| %07 £E&  16.02.71E FERk  16.40.6[wH R 16.46.48% FREE 17.19.9|WRR &K 17.26.00)%  ¥E(A 17.58.7
5000m A EE e A F T YA FE A EEAEL e YRR 2 A EEAEL w1
2-1'034 +3.9 | F ARk 16.8|+% A 17158 kK 19.4|E e 20. 7 A Fof 20.8
110mH 2Rk 2pRAk2 L2 /gL P2
a—1036 A BEE 6L.5[AE KK 62.71am Ak 64.9|(F ik FHK 67.5| M A 69.1
400mH M THEFAE2 2 N E=ranzchl F=ral:chl
2-1'053 NECEE 9.55.3[4ls & 10.13.31NE FERk  10.27.2D5% REAy 10.40.9kaZ FRER 10.57.1|F  PEME 1L.31.2PmEE fFK 12.03.5/MF 1A 12.46.4
3000mSC Ve BHB1 Ve KH81 HAEFAEL HH2 R E2 M1 VN3 /ML
a—-1061 KIOGERE 27203k KRE- 29.01.9\FciE EAE 31047k 32.34.2PiE Pk 32.35.900N  s¢ 36.18.3
5000mW| HAEFAEL E=uniEan! /NEEL ‘A H2 E VN3 SN FH2
a-p'601 iG] 46.3/5 4 H 46.7[8R A 47 5| R 47.7| W 49.1] EHPE 50.0
4% 100mR| % A KL B B2 &I K2 &7 Bl AR FnAT2 LA o2
B EA2 e %2 g B2 ZERAN -3 ANITREIN iy B B2
fil K2 PR EX2 TR RH L B EA2 PN JEB2 M HE—ARL
W ZRAL SRy P E]2 B 2 =R E M2 BRI B BR2
1-}'603 M 3.39.5 L EFAE  3.43.5 AT H 3.43.9 LK 3.45. 3| A R 3.45.7| EH7E 3.48.1[%F R e 3.49. 2|k A 3 3.53.7
4X400mR)| i A KL AP BsE2 e w2 AN BLET2 W FEL B FoR2 &I K2 HA KL
I #RFL FhE TR2 TR EXR2 B G2 =UAR#E M2 AR fNE2 B —HEL KR 722
aE kK2 KRAETL Kb —H2 HOERAL B EA2 N B2 FE EEEL HH 2L
e o AR PRk FIKL o G5 4R Fn b2 ZEIT H2 R B2 PR B A2 ZEL KL
a—p071 ERNON] L7517 Sk 1.60| (£ 524)
A E Bk L5 2TNE[a! 52
a-}072 R OBE 2.50[ (Hi35144)
ek P2
a—}073 AN BT 6.37|HE A K 6.26|@ Kz 5.96| T & 5.67|F A HER 5.59 7R EX 5.58| % @ 5.38| KE 5.23
AEMEBE b +1.4| L1 +1.6|BF iR k2 1L 7PAAT +3. 7 b A +2.0PA AT 2 +1.9PA AT 1 0.0]ZEFl2 +1.9
a-N074 ANITREIR 5 12.96[ F-Ja8 A 12.73[FH EE 12.19]&H K3E 11.98| i A K 1181|4510 B 11.04[fFH 5% 10.91
— Bk g2 +1.7| B RARL +1.6) k1L +2.4)Bp A2 1) F +1.7)258H +1.3| %2 +0.9
6.000kg LA 10.45[ AT 2L 9.91ihH —fF 9.43Fk I HZ= 8.55/A IR #& 7] 8.50] L@ Ak 7.97| A& Wl T.16|/Ex K & 7.00
fit AL ERVS =3 ZiF2 LR/NEED! BV N-ED) At H2 BV N3 E=aneihl E=ranzehl
1.500kg B EEEES 38.84 3k H 7 379205 #E ] 33.42|55 % A 31.00|HH 78] 29.04 k& 28.49[H —FRf 27.50|#k ERAE 27.49
Lt Zikl2 ERYS =) ArTH2 H A2 BV N-E3 ZiFl2 LSRINEED! T
6.000kg FiE TR 41.09|HAT &L 28.78|H:H Ei& 27.15/INF FRSF 19.09[vE 4 W 16.41|Fk1E BE 14.41
AN 4 HLFHEZAE2  REwm|ZiE2 ‘At m2 E=raneihl At TP RIEL
0.800kg FRE TR 49.29| k® % 44.89) 5 Ry #E ] 122.71|RE —H 37.20\#)1T 7R 35.68|7)11 I 35.22|FAEE 32.79/hE 1H 29.75
Sk B AR ZiFt2 At H2 At 2 1 e ‘At 2 /L
a-}'210 EREAE DN 4286|fAH FHK 3152[ (HH¥%5244)
ST 27 R k2 /i
KB A A Ja A L15|#EA R 99 I FEFAE 85| I- [ 7138 65) - [ 63.3|Z R 41.5| b A 3 38




Fl42lm] WEREFREERS a—h 07201509 Sapn s LT E B RS 2=} 203010 HAH SR 194E9 A 15 H () 16 H (H)
1 {r 2 fr 3 4 hr 5 fi 6 fr 7 Ar 8 i
AR | R [K4 i |KA i |K4A I B i |K4& I B i |K4A ik |K4 ek
B B B P& i) i) i) B}
2-1002 +2.9 [H EEE 13.2[=FH1 0 3.2/ e 133 == 13.5FHEmE 1354 & 137|389 AR TR B4
100m ARSI AT E AR ERYS-E LRS- HYR 2 AFTH2 HYA 2 PR EE L
2—1003 0.0 |AFAET 26.5|f@ 3 i 27.4 60 EE 27.6[#= AL 27.9|=FFH70 28. 1|1 A& 28. 7|0 £ INEIHES worsenl/ L #EE (84L)
200m A EE2 AT EFAE2 A EE2 HE Tk A TEFARL AATH2 et A 22 HAEFEE2 E N
a—}005 I THE 612NV LR 62.2| =HH20 62.8|F I {i,T 63.5| % HEL 3L 65.2)1oc F#k 67.01 kKN RE NI =
400m HAEAE2 HA-EAE2 HAEAE2 &&E YA 2 /N L e A R Y SEEY
a-N006 NELRESE 2.25.60FH BE 2.26.9|AN RE 2.28. 3|4 HmeHs 1 2.29.3|&H i 2.29. 7|l ACEE 2.32. 2| K #fi 52 2.32. 5\ 7p 70 2.33.7
800m HA-EEAE2 HAE AR Ve AR B Ve A FE /N2 SFR 1 M1 HAEAEL
a-p008 T WA 4.40.3|50 1L EYD 4.55. 1HH BHE 4.59. 1| K HHshZE 5.02.1/MKRieE T 5.12.0[1Lil A% 5.12.6]&JF Emar 5.13.0|4 el 5.16.6
1500m HAEAE2 DHT I AHE AL HA-E AR M1 /e HFR 1 /N2 e BB
a-N010 TERE WA 10.14.5[5 10 B 10.18.5| ™A &= 10.27. 0 KJFHitAE 1L 12.1/dese 1 11.34.9[FH Ba  13.20.6
3000m A AEZAE2 HAEAEL HAEEAE2 M1 /e AN AHE S
1—N044 YOE 17.5|FE8F 1 18.0[fk I & 19.7| i &wp 20.0PKIR Aask 20.2| [ 8D < 7 20,5\ &H 22.4
100mH ALY +1.4|/NGE2 +2. 1| BFIREE 1 +1.4|/hGE1 +1 4| BFREE +2. 1| BFREE 1 +2. 1 NeERE L +1.4
1-N045 &I THE 65.8| = PR E 1 L0 T TLIINEIREE 75.3|4El  FLIA, 778l F3E 83.6] 6D < A 83.8| b T & 86.4
400mH R s YN, i UM V) L L YL LIgNE LIZNER AN AGES!
WEL7ZR>%E  16.16.5| B/ A=A 170650 R+  17.07.4| FF % 18.33. 7| FAFEA  18.45.0[ LG #Y I+  18.58.7/Mk ¥ 20.47.5| 1% ik 23.21.3
3000mW HAE A2 ERYS-E AR AT E AR N N2 N HYR L
a—F601 IR 52. 2 L TEFEE 53.8] E A 54.5|/ Nk 54.5| b A 2 54.6] F il 55.4| %R 56.2 /J\D%Pﬁ% 58.7
4% 100mR EiE A2 =HH02 BFFEo%2 PEBF RET2 (30D |2 RRZE2 WwAk EAL R EL wH HEL
H A B a0l =i E=N=E ) JIot Tk Rt EE2 sl WE2 R 271 AN BFIL
R RS2 IRE B2 P L BRI T-2 o #pee2 RN EFEL i 6D < Ax 1 RO THL
Bl EWL %# T2 B AKEHE2 AR FiF2 LR SERL2 PR AL R FEFL FH kL
1-1603 FLEFRE  4.16.2) Nk 4.23 8|fE AR 4.24.5|FF R 4.26. 1|AEEAEE 4310 EmMs R 4.38.8]/hiEpaE 4.52.2
4X400mR =HHH02 HIRIE T2 M H=H I ACEEL IR e e B | ARl
NGB IRRRZETL AN RAEL g % PR EE2 FHEERFE2 FH ORRFEL
BT 71 A FiE2 AR -1 LR AN EeE2 B AKHEE2 R THEL
I Fhk2 JIot Tkl R RS2 R 2451 EY RV ARG L APN_HA
2-}071 SFNET 1.63| = RFnH 1 JE [N 1.35 &3 Faar 1.35[4EMm B 1.30[p%H Fhd 1.30]KH £ #e 1.25|B 0 B & 1.20
A Ek PEAEW2 N NV N HYAR L FFiRAb1 LigNER PRk
a—N073 L 5.16[mifG #hid< 4.97[4E] B0 48415 mE 4.69|EN £ 442\ AT 4. 20] LI 45 38 7 4. 14| 5RO A2 3.98
ARk AR +1. 7| A EE2 +0.7| AR R +1.4) +2.0| EHFdh1 +1.4| FH1 +1.4)/Ni#2 +1.3|BFiREE L +0.7
4.000kg EESeE] 10. 24| = R AR 8.21| MY RIR .21 riE % 7.50| 2 pRE T.46|HEN  EiE 745|459 EHid 7.36|F8 KEE 7.02
fiw L B AR LigINED! ZiE2 LB AR E Y S-E ) LTk ZiFl2 YR 2
1.000kg EIESEr 3115|140 Eid 26.92|BIR BRI 25.94[7% )11 WH 25.90| i1 FLIR AL 25.35|%k 0 53¢ 25.23|0r /e 2% 23.23|IAAK AL 22.65
[t HAEZAE ZiFl2 ZiEl2 - H T2 LigINED! L2 HAESAE2 EEFEh2
0.600kg EIESer 37.39|r e 2 34.06 Hﬁr FET 33.57| & E 32.65|5 0 HEid 30.51|m AR AR 27.53|In HE 26.01|= NEEFE 24.61
UL A EZEE] A A EFAE N B S-E Zikt2 LigINED! Nl A E®
a-F211 Jiot Tl 3012 = IRFnFE T 3004 ;&n’% Fifi 2 23520 mE 2085
(i i%sd Nl N R /it L
R HTEFAE 178|125 117 A R8s (6] BN e BV ES 46.5] - YR T 34.51Z 8 25| - Fith 21




	男
	女

